10 9 8 7 6 5 4 3 2 1

PART NO MATRIX \OPTIONS,
CABLE SPECIFICATION: 8 4 3 O 3 1 B 4 1 M * * * H
CONDUCTOR: l | | l | | || | l
MATERIAL: BARE COPPER
CROSS SECTION: 24 AWG / ®025 mm? 84 = M12 - M8 POLES: CABLE: UNIT: LENGTH: H = 2 PCS. OF I/D CARRIER
INSULATION COMPOUND: TPE 3 =3 POLES B41 = 0_25mm2’ TPU BLACK M = METER EXAMPLE:
INSULATION DIAMETER: @#1.15+0.10mm 010=1m
HEADER: 050=5m
OUTER JACKET: 031 = RIGHT ANGLE FEMALE - STRAIGHT MALE 100 =10 m
COMPOUND: TPU COMPOUND
+
COLOR: BLACK L+Tol. (SEE PART LIST) -
DIAMETER: ¢4.50+0.20mm 10 (31) (50) (37)
- > - >
" 11 1 BRAD LOGO ¥4
ELECTRICAL DATA : M —:% .
B ) il 1 X' S
VOLTAGE RATING : 60V H Dﬂ [ = Sy
AMPERAGE RATING : 3A < - — /.
INSULATION RESISTANCE : 1082 MIN. N
MATING CYCLES : MIN. 100 — 1 O 8 9 VIEW FROM FRONT SIDE
BRAD LOGO LABEL ACCORDING TO WN-00002
ENVIRONMENTAL :
IP PROTECTION CLASS : IP65 (IN MATED AND
LOCKED POSITION) Y T M12x1
OPERATING TEMPERATURE : -25°C TO +85°C ”
14.5
(Z14.5) PART LIST
BIN 3 6 WIRING DIAG RAM MOLEX P/N | ENGINEERING No. | LENGTH(mm)
L/ PIN 4 PIN 1) BROWN 1 PIN 1 1200669610 | 843031B41M006 600
POSITION OF THE FE CONTACTS ; ’q‘_ A== 1200669611 | 843031B41M010 1000
ACCORDING TO IEC 61076-2-101 f'.‘“ - | PIN 3) BLUE 1 PIN 3 1200669612 | 843031B41M020 2000
YW= S N BLACK 1200669613 | 843031B41M030 | 3000
xR ) PIN 4) T IPIN4
‘g. —, = 1200669614 | 843031B41M050 5000
2 PIN 1 1200669615| 843031B41M100 10000
BOM VIEW FROM FRONT SIDE 1200669616 | 843031B41M150 15000
ITEM No.| QTY. | DESCRIPTION MATERIAL | FINISH/COLOR
1 - CABLE 3X0.25 D4.50 UNSH | TPU BLACK
SELECTIVE GOLD
2 3 CONTACT 10 FE BRASS OVER NICKEL
3 3 CONTACT 10 MA BRASS GOLD OVER Ni-PLATED
4 :]I I(;\loSERT MG12 FE TPUSS BLACK TABLE 1 Fgﬁﬁgg{gﬂ 'DF:IJEN[;ITS:VJ:ﬁS()ON'FSﬂEI_SEINFO(I;I\JII;EZNN;H}:;\I/SDPESZI?IETARYTO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE liED WITHOUT WRITTEN PERMISSION
5 UPLING NUT M12 BRA Ni-PLATED _ mm 21
6 1 GASKET FPM RED CABLE LENGTH TOLERANCES g 0 GE(NERALTOLERANCE)S mo ex
= 0 UNLESS SPECIFIED
! ! M8-3 POLE MALE INSERT | PUR BI._ACK ;E’j‘ﬁ;}rH IfOLEnTnANCE \'f:/= 0 ANGULARTOL £ 107 EC NO: 639067 CSE M12 M8 3P AC FE RA WSOR MA STR XM DE
8 1 COUPLING NUT M8 BRASS Ni-PLATED 1 50 4 PLACES DRWN: MDHARMANTI 2020/06/05
9 1 M8-3/4 POLE MM SLEEVE |BRASS | Ni-PLATED >1m-5m +60 mm CWBOLS [2PHACES |t CHKD: RSILLER 2020/06/08 PRODUCT CUSTOMER DRAWING
10 1 OVERMOULD TPU BLACK >5m-10m +80 mm jztiiis i 06035 IIL\I\TII')I"I?AL RRSE”\_/IIEFON 2020/06/08 DOCUMENT NUMBER DOC TYPE|DOC PART| REVISION
11 1 |LABEL VINYL YELLOW :;82?82 :1;8 22 vraces T on | i MDHARMANTI 2020/03/13 1200669610 PsD| 000 | A4
DOCUMENT STATUS| P1 | RELEASE DATE | 2020/06/08  06:16:49 | >30m +1% length s @ =1 |A3-SIZE| 120066 | SEE PART LIST | GENERAL MARKET | 1 0OF 1

0] 9 8 7 6 5 4 3 2 1




